Math 10C Roots and Powers Review Name:

1. Find the value of each of the following. Express answers in % form: SHOW WORK

-4
a. -3 = b. (%) = c. 64% =
i 27%= e. (=) f. 493/2 =
2. Simplify:
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a. -m?n~3m3nm2 b. =

12x°9°2* Y d 6x2\( 35y "
18x° o2~ = - 2 2 =
y xy xy



& Express each radical in mixed radical form:

a  54= b, 5=
c. 75= d. 147=
4. Express each of the following in a entire radical form:

a W= b —233=

5. Tell whether each number is a rational or irrational.

a. —% b.\/1_4



Math 10C Date:

Fractional Exponents Name:
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8. A cube has a volume of 432 cm3. Write the edge length of the cube as radical

in simplest form. V = lwh or V = |3 Express your answer as avb.

9. Determine the edge length of a square that has an area of 162 cm?. Express
your answer as a mixed radical in lowest terms. 4 = 1?
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3. Express each radical in mixed radical form:
a. {/3_:'—- b. J7—=:
3 x 32 {25 xJ3
53
332
€, P75= d. Vi47=
Ji2s x 33 Vg xJ 3
533 E
4, Express each of the following in a entire radical form:
a. 3\/3 = b. -2 %/5 =

\E')-xg !J”E_; B\J“Qa*&’x-a X 3\]—5
39 «JB 35 k33
s 2o

5. Tell whether each number is a rational or irrational.
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8. A cube has a volume of 432 cm?®. Write the edge length of the cube as radical
in simplest form. V = Iwh or V = I3 Express your answer as avb.
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9. Determine the edge length of a square that has an area of 162 cm?. Express
your answer as a mixed radical in lowest terms. A = [?
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